
SOCIO-ECONOMIC INDICATORS

Country France France France France France Spain Spain Spain Spain Spain

Main gear DTS DTS DTS DFN DFN DTS DTS DTS HOK HOK

Vessel length VL1218 VL1824 VL2440 VL0612 VL1218 VL1218 VL1824 VL2440 VL0612 VL1218

Total number of vessels 28 32 404 9 164 346 155 80 90

Total landing share in the area 0.10% 2.80% 4.20% 1.50% 0.10% 6.00% 21.10% 12.80% 1.00% 3.00%

Target landing share in the area 0.10% 2.00% 3.30% 0.40% 0.00% 9.00% 45.90% 34.00% 0.20% 0.10%

Target species importance in fleet’s turnover 14.00% 21.50% 23.50% 6.00% 3.60% 26.30% 44.20% 61.70% 5.20% 1.60%

Totals weight of landings (tonnes) 24 2333 4416 735 35 4746 12296 6399 107 545

value of landings (landings' Income) (M €)  0.2 9 13.5 4.7 0.3 19 67.4 40.9 3.3 9.5

Total fishers employed 84 149 444 26 383 1499 736 223 360

FTE harmonised (1) 71 111 273 12 300 1605 567 124 216

Fishers per vessel 3 4.7 1.1 2.9 2.3 4.3 4.8 2.8 4

Operating GVA per vessel (000 €) (2) 94.9 104.4 14.4 56.4 60.2 62.8 78.7 12.3 58.6

Total wages and salaries of crew including unpaid labour (M €) (3) 2.8 4.6 6.8 0.5 8.5 22.9 13.2 2.2 3.4

Operating EBIT per vessel (000 €) (4) -3.7 -38.1 -2.5 2.3 8.2 -3.2 -7 -14.8 21.3

(3) Wages and salaries of crew + Unpaid labour value.

(1) Full-time equivalent (FTE) or whole time equivalent (WTE) is a unit that indicates the workload of an employed person in a way that makes workloads or class loads comparable across various contexts. 

An FTE of 1.0 is equivalent to a full-time worker, while an FTE of 0.5 signals half of a full work.

(2) Gross value added (GVA) is a measure of the value of goods produced in an area, industry or sector of an economy. Operating Gross Value Added = Value of landings (landings' Income) - (Energy costs + 

Other non-variable costs + Other variable costs + Repair & maintenance costs + Annual depreciation costs).

(4) EBIT or operating profit is the profit earned from a firm's normal core business operations. This value does not include any profit earned from the firm's investments (such as earnings from firms in 

which the company has partial interest) and the effects of interest and taxes. Operating EBIT = Value of landings (landings' Income) - (Energy costs + Wages and salaries of crew + Unpaid labour value + 

Other non-variable costs + Other variable costs + Repair & maintenance costs + Annual depreciation costs).


